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Please read each of the following instructions carefully before attempting questions.

IR ¢ ¥ yd FgfaRad A= &1 puan graurigds ug |

1.  There are EIGHT questions printed in both. English and Hindi.
ST T3 Uy g o Siel IR gl g A BU g |
2.  Candidate has to attempt FIVE questions in all either in English or Hindi.

ITHCIR &1 Ha Urg Ui & SR S AT el HA € |

3. Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be attempted.

Y GBT 1 AaRi g | AV AT U H Y IR U b IR ST |

4.  All questions carry equal marks. The number of marks carried by a question/ part are

indicated against it.

Tt Ul & TH 3ih & | TP UM / U P ad 3ih 39 I feu U g |

5. Write answers in legible handwriting. Illustrate your answers with suitable sketches and

diagrams, wherever considered necessary.

quTad ferarae o IR T | gt off SiTaxdes THeN SE, 981 309 SRl &l Sugad
aTieEl 3R SR & 1Y WY BT |

6.  Each part of the question must be answered in sequence and in the same continuation.

UY & HIT BT IR 34T A H fear S =nfsu |

7. Attempts of the questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left

blank in answer book must be clearly struck off.

Tl & ITRI B! TUHT HHIAR B ST | 316 30U fSU 7T Usii & IR Dl i gt
&t STt afe IY prer 81 T | Wlell Bl Y Bis Hi ¥ 3yal gy & HIT Bl uid:

HIc STt |

8.  Re-evaluation/ re-checking of answer book of the candidate is not allowed.

SH{IGaR 1 STRYRAHT BT GAHcHiH / G Sird $I SHT a1 § |
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1. Answer the following in about 150-200 words each:
frafaRad o & U &1 AT 150-200 sa! H STR SITIT;

(@) How does the river capture interrupt to the cycle of erosion?
T} SUBRUT SRS % B! [ UHR FAT BTl 62

(b) Explain the role of technology for tapping marine resources as the assets of

future humankind.

Hfasy ot gd Sifd @ gRAuREl & =0 T T4 9 & qlgd &
fore it ot YftreT o sare Sifo |

(c) Explain in relation to biodiversity the role of Human interference in

destabilizing ecological stability.

vig fafaydt & dey # uifufae RRA 31 SRR 3 & aFdl
&Y DI YT B TR Be |

(d) Is counter-urbanization a result of mismatch between human aspirations

and limits imposed by nature? Explain.

T Ufd-GIHRUT HHAT SATHIENST 3R THid gRI s T TS
& oI I0T HT TR B2 WY B

2. Discuss in detail the role of climate as a factor for different type of weathering

in various geographies?

faftrr Hiifere &= o fafia UeR & 3/ued & SRS & U § Sfaarg &
YT IR fawaR ¥ 9 a2

3. Discuss in detail how atmospheric instability in recent years is largely a result of

climate change?
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R ¥ =l &< {6 81d & auf o agHed fRRdT {6y goR gera:
STearg URdd= &7 UfRomd g2

4.  Are isostatic adjustment and Eperiogenic movements complimentary to each 10, 10

other? Elaborate.

R STFARCTCH FHRISH 3R HETGIUFHAIU- odd Th GER & R §?
IR ¥ Fard|

5. "Sustainability refers to ecological stability and continuity of overall human 10, 10
progress.” Elaborate this statement in the context of technology and natural

resource relationship.

"aq Urvuliadr &1 ared oikfRufae fRRGT 3R T3 AHd wifd &t FRavar a g1
TRIMIDT IR Uipfaed TuTed daY & e § 39 Sy &I fawR I I9msy|

6. "Population growth and distribution are much important criteria than population 10, 10
density and total population for the development of any region.” Explain with
suitable example.

et o & & o & fore i gfe oI faaRuT, SFRe 9@ 8k
$d SR ¥ Pal P Ag@yUl AFES B 1" SUgdd Iare]ul died
HHLAIRUI

7.  Discuss the problem of soil erosion and the role of soil conservation techniques 10, 10

in the Western Himalayas warm sub-humid agro-ecological region. .

Uiy femrea & T IU-os H-umikiRufas &5 o Har SR &1 9
3R a1 WREU dHh-1d! DI YA IR Il B |
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8.  The problems associated with Urbanization are same as well as different at the 10, 10
same time in small towns and million cities? Critically evaluate with suitable

example.

IENHUN ¥ JS AT BIc e 3R ¥ A6 RN H U gt I0g |
A B & TTY-TTY SEHT-3fTT H 82 SUgad IaTevul & Y AT D
i P |
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